Exercice  14 
Le  tableau  est-il  proportionnel  ?  Si  oui,  justifie  ta  réponse  en  écrivant  le  coefficient  de  proportionnalité.  
X 

	 Quantité 
	15
	8
	23
	5

	  Prix (en €)
	76
	45
	101
	19



Exercice  14 
Le  tableau  est-il  proportionnel  ?  Si  oui,  justifie  ta  réponse  en  écrivant  le  coefficient  de  proportionnalité.  
X 

	 Masse (en Kg)
	12
	70
	33
	58

	  Prix (en €)
	36
	210
	99
	174



Exercice  14 
Le  tableau  est-il  proportionnel  ?  Si  oui,  justifie  ta  réponse  en  écrivant  le  coefficient  de  proportionnalité.  
X 

	 Masse (en Kg) 
	4
	12
	20
	50

	  Prix (en €)
	96
	288
	480
	1 200



